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Tom buys 10K units of EUR/USD at 1.2700 and sets initial stop to i
1.2600...Risk to total position is -$100 and gain at profit target is +$300 |
113000
Profit-at 1.3000 Loss at stop 1|
1st 10K at 1.2700 +$300 5100 1.3100
Ti 1 - =21 i
e 0 e Max gain at profil targel: #5300
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{1.2900
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10K bought at 1.2700 12100
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o 1.2600. Max loss -5100 |
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Tom adds 10K more units at 1.2900 and adjusts stop on all
positions to 1.2800...at this point his trade is risk free!!!

Profit-at 1.3000 Loss at new slop

1st 10K at 1.2700; «2300 +5100
2nd 10K at 1.2800; +5000
5200 i Max gain at profit targel: +5800
Ard 10K at 1.2800: +5100 -5100
Total +3600 +3000
10K bought at 1.2800
Stop moved to 1.2800 AA 10K bought at 1.2800

10K, baught at 1.2700
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